Math 252: Quiz 1 Spring 2024
Name:_go\h.{;&”cg /24

24 points possible; each part is worth 2 points. No aids (book, notes, calculator, phone, etc.) are
permitted. Show all work and use proper notation for full credit. Answers should be in reasonably-
simplified form.

1. [12 points] Compute the derivatives of the following functions.

a. f(0)= 9cos(9)+§

$18y= |- eo3(8)+ 6C-5m(e)) +O

§te) = CoSO)- os1n(s)
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b. f(x)=5¢"%+sin’(x) = 5 Q(z)‘) + (S'hé‘\)
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= _g ef/z’ + ] SInGe) CoS00

c. h(x) = Vax*+ b* where a and b are constants
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Math 252: Qui; 1 Spring 2024
d. f(x)= - In(tan(2x)+sec(2x))

Pz 256 (22) 42 sec(ad) dun @)

Fen(20)+ Se c(2+2)
= 2sec(2A) [sedzn)+ ton(2) >:: 1 sec(z)
Jan(zD+ Sec(zd)
e. h(x) = (x+sin(x* + 1))_2
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W= 2 (xr sl (1 + 2x eos(,(%))

f. h(x) =arctan(x’) + — = arC‘lﬁhG(.s) +-" )(-’
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. [12 points] Compute the following antiderivatives (indefinite integrals) and definite integrals. Re-

member that antiderivatives need a “+C”’. )

| : 2 (-
a. /_1x(2—x)dx = S(Zx—x ) ak = X "g)ﬁj)
-1

-1

- (FyR)- (C‘hz‘%é’@
C —.L,D-(l*é)=lz

b. [sin(ee)+ Zdx = S(S‘"m)* 2 <) e

\

= o coy(re) +L |x| +c
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c. /wzi—xzdx = Sx(?.-ha aX du= 2+ d¥

1 = X d¥
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m/
d./0 2cos(x)(sin(x)—kl)‘q’CK dw= 605(43&1
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= S U-Ab.""f} )(:'Vz’wz
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- axctan(W)+C = a,rc,-l-uvx( 6’5 +G
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e = Sx(x-\b dx u=x+
—— — { du=d%

-2 = -l
= gCU&—B'U- du =W

= gc‘;‘-d'>&u= \nlu\-ﬁ L;-‘ +C

-\
= ln|xn| + Gad) 0




